Vidva Vikas Mandals
Ramacrisna Madeva Salgaocar [ gher Secondary School

Margao Goa
St: XI VOC -CT  First Term Exam, Ociober, 2023 Duraton: 2 hr
Date: 19710723 Subject : Mathematics (voc) Marks:40

Instructions :
i. All questions are compulsor,
i. There are four sections in this Quesiion paper{ A B.C& 1)
i1 In seclion A there are 8 questions of 1 mark cach
Iv. Section B contains ¥ questions of 2 marks each,
v. Section €' contains 3 questions of 3 marks each
vi. Section D contains | question ol <4 mark.
vii. Write the number of each question clearky on the answer book
Section A

Question numbers from 1 to 8 carry I mark each.
| Find {AB) if A=(4.7) und B=(#.4;

2. Find Cartesian coordinates of g point whose polar coordinates ure L4, H?j
3. Find the centroid of u riangle with verttees (4.5) (6, andi8 )
4. Find the measure of angle in radian il its medsire i degree is 160!
S—In AABC, L’f‘u =43 and ‘.J_J.’! 0" i E6 v vadan
6. Find the value of the following determinan
5 4

=2 3

T

. Solve the following equation
fr -1 x+ Hﬂ =
I 2

. Write the logarithmic torm of the following expression which is in
exponential form.
22=|6

Section B
Question numbers from 9 1o 16 carry 2 marks each.
9 InAABC A = 90" [{AB=2 _liAC)=] Aind B oand B
10, Find the coordinates ol (he pones on the s ased which s a distance of
|0 units from (3.-6)



-ABCD s a parallelogram. It A=(.2 4} . B= =350 C=(3.-2), Find the
CL‘H‘.ITdII"IdlE“ of [,

12, 1F A=(2, -'*F]Hnr.l B=(-3-7) and de:jes WLJIL&IIJ” in the mlm i:5

13,1 5in® =— _and © lies in seuzrnd quadmnl find cost)
4. Find the ‘-:IlLrE of the following déterminant
56 =4
4 F 2 '
12 12 '}
|5. Find x if
x 1 2
3 x 3|=6
1 3 2
L6, State any two lows of logarithm

Section €
Question numbers from 17 to 20 carry 3 marks each,

7. Show that AABC 15 right angled riangle (it verives wre AL 6 BiY.O)
C{-1,2)
8. Solve the tollowing equations using determinanis
2Kty =19 . x-6y=-10
|9. Verity the following .
' dcos™45" - Jeosdst i 450

=0, Find sin 105" without using table,
Section 1D
Question number 21 carry 4 mark,

21. Solve the following equanons using determinants
RrytE=0, Ity ta=2_dy y—3z=20
(R

: s ; . 1]
~Lkmd the trigonometric ratios of r
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